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NEW QUESTION 1
Which are two key benefits of fully integrating an agile issue tracker with software testing and continuous integration tools? Choose 2 answers?

A. Developers can see automated test statuses post code commit on a specific user story.
B. Developers can collaborate and communicate effectively on specific user stories.
C. Developers can observe their team velocity on the burn chart report in the agile tool.
D. Developers can use the committed code's build status directly on the user story record.

Answer: AD

NEW QUESTION 2
Universal Containers has three types of releases in their release management strategy: daily, minor (monthly), and major (quarterly). A user has requested a new
report to support an urgent client request. What release strategy would an Architect recommend?

A. Utilize the major release process to create the report directly in production bypassing the full sandbox.
B. Utilize the minor release process to create the report directly in production bypassing the full sandbox.
C. Utilize the major release process to create the report in a full sandbox and then deploy it to production.
D. Utilize the daily release process to create the report directly in a full sandbox and then deploy it to production.

Answer: D

NEW QUESTION 3
Universal Containers requires its developers to develop and test code in one sandbox per developer before deploying to a common sandbox for code review.
Which deployment strategy should be used in this environment?

A. Refresh the developer's sandbox, develop changes, refresh the common sandbox, deploy to the common sandbox, test changes
B. Refresh the developer's sandbox, develop changes, test changes, refresh the developer's sandbox, deploy to the common sandbox
C. Refresh the developer's sandbox, develop changes, refresh the developer's sandbox, deploy to the common sandbox, test changes
D. Refresh the common sandbox, develop changes, refresh the developer sandbox, deploy to the common sandbox, test changes

Answer: A

NEW QUESTION 4
Universal Containers is planning to release simple configuration changes and enhancements to their Sales Cloud. A Technical Architect recommend using change
sets. Which two advantages would change sets provide in this scenario? Choose 2 answers

A. An easy way to deploy related components.
B. The ability to deploy a very large number of components easily.
C. A simple and declarative method for deployment.
D. The ability to track changes to component.

Answer: AC

NEW QUESTION 5
Universal containers have recently replaced a custom service center application with Salesforce Service Cloud. Administrators are now confused about which
fields and classes are actively being utilized and how future implementations can be maintained. Choose 2 answers

A. Create an adoption plan for end users using Salesforce dashboards and reports.
B. Create a design standard requiring integration to use declarative configurations patterns
C. Create a governance process requiring all projects to create project deliverable documentation.
D. Create a standard method for deprecating classes and fields using design standards.
E. Create a governance framework focused on high-level business strategy and goals.

Answer: CD

NEW QUESTION 6
Which two decisions should be made by an Architecture Review Board (ARB)? Choose 2 answers

A. Whether to create a new Salesforce object or override an existing object using a new Record Type
B. Whether to utilize the Waterfall or Agile methodology on the project
C. What testing tools should be used to track integration testing requirements
D. Whether to implement Single Sign -On with SAML or delegated authentication c

Answer: AD

NEW QUESTION 7
Universal Containers has written several validation rules and workflow rules for the lead object. Which two test types should an Architect suggest to ensure that a
large inbound call center does not experience platform slowdowns under high call volume for the Lead object? Choose 2 answers

A. Unit Test
B. Stress Test
C. Load Test
D. Performance Test

Answer: 
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CD

NEW QUESTION 8
Due to several issues, Universal Containers wants to have better control over the changes made in the production org and to be able to track them. Which two
options will streamline the process? Choose 2 answers

A. Make all code/configuration changes directly in the production org.
B. Allow no code/configuration changes directly in the production.org
C. Use the Force.com IDE to automate deployment to the production.org
D. Use Metadata API to automate deployment to the production.org

Answer: BD

NEW QUESTION 9
What are two advantages of using an Agile Project Management tool? Choose 2 answers

A. Increased visibility into sprint and project status
B. Better relationships with business stakeholders
C. Consolidate project artifacts to a common repository
D. Improve governance with gate steps in development

Answer: AC

NEW QUESTION 10
What are three advantages of using a Source Control system alongside a multi -sandbox development strategy? Choose 3 answers

A. Perform code reviews before promoting to a pre -production sandbox
B. Automatically deploy changes from sandbox to production (Missed)
C. Keep a history of changes made by each developer (Missed)
D. Create a branching strategy that tracks each feature or change separately (Missed)
E. Act as a backup in case of catastrophic data loss

Answer: BCD

NEW QUESTION 10
Universal Containers has multiple project teams integrating Salesforce to various systems Integration Architects are complaining about the various integration
patterns used by the teams and lack a common understanding of the integration landscape. What should architect recommended to address the challenges?

A. Implement a data governance policy and publish the documentation to all teams.
B. Recommend an outbound message design pattern to be used for all teams.
C. Recommend a fire-and-forget design pattern to be used for all teams.
D. Create design standards focused on integration and provide training to all teams

Answer: D

NEW QUESTION 12
Universal Containers (UC) has used Salesforce for the last 6 years with 50% custom code. UC has recently implemented continuous integration. UC wants to
improve old test classes whenever new functionality invalidates tests. UC also wants to reduce the deployment time required. What should Architect recommend?

A. A Do not execute any test classes in sandboxes and Production.
B. Do not execute test classes in sandboxes and all test classes in Production.
C. Test classes cannot be executed in sandboxes.
D. Execute all test classes in sandboxes and selected test classes in Production.

Answer: D

NEW QUESTION 13
Universal Containers (UC) is preparing for the new Salesforce release in a couple of months, and has several ongoing development projects that may be affected.
Which three steps should the team at UC take to prepare for this release? Choose 3 answers

A. Contact Salesforce to schedule a time to upgrade the full Sandbox.
B. Refresh a Sandbox during the Release Preview Window to ensure they have the upcoming release.
C. Run regression tests in an upgraded sandbox to detect any issues with the Upgrade.
D. Review the release notes for automatically-enabled features and technical debt.
E. Upgrade any SOAP integrations to the newest WSDL as early as possible

Answer: BCD

NEW QUESTION 18
Universal Containers recently added a new sales division to theEnsure that Record Type Ids match both Productiowhen migrating to Production, the Developer
reports that Unit Tests are failing. What should an Architect do to ensure tests execute predictably?

A. Ensure that Record Type Ids match both Production and Sandbox orgs
B. Ensure executed Apex test run as valid users
C. Ensure unit tests generate their own test data
D. Ensure unit tests execute with seeAllData=true
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Answer: C

NEW QUESTION 19
Universal Containers has three types of releases in their release management strategy: daily, minor (monthly), and major (quarterly). A user has requested a new
report to support an urgent client request. What release strategy would an Architect recommend?

A. Utilize the major release process to create the report directly in production bypassing the full sandbox.
B. Utilize the minor release process to create the report directly in production bypassing the full sandbox.
C. Utilize the major release process to create the report in a full sandbox and then deploy it to production.
D. Utilize the daily release process to create the report directly in a full sandbox and then deploy it to production.

Answer: D

NEW QUESTION 24
Universal Containers (UC) is planning for a huge data migration as part of their Service Cloud implementation. UC, has approximately 15million customers, 30
million contacts, and 30 million active cases. Which two key areas of UC's data migration test plan should be included? Choose 2 answers

A. API's to be used for data migration.
B. Success criteria for data migration.
C. Target Salesforce Server and Source system IP address.
D. Manual and Automated data validation approaches.

Answer: AB

NEW QUESTION 26
Universal Containers (UC) is considering updating their Salesforce Production Deployment as a part of their Release Mgmt process. Which three best practices
should UC consider for Production Deployment? Choose 3 ans.

A. Announce the maintenance window ahead of time.
B. Define a rollback strategy.
C. Lert all users on the day of deployment.
D. Schedule releases with Salesforce upgrades.
E. Temporarily suspend configuration changes in production.

Answer: ABE

NEW QUESTION 29
Universal Containers (UC) wants to shorten their deployment time to production by controlling which tests to run in production .UC's Architect has suggested that
they run only subsets of tests. Which two statements are true regarding running specific tests during deployments? Choose 2 answers

A. To run a subset of tests, set the Run Specified Tests test level on the DeployOptions objects and pass it as an argument to deploy() call.
B. run a subset of tests ,set the RunLocalTests test level on the DeployOptions object and pass it as anargument to deploy() call.
C. Specify both test classes and individual test methods that are required to be executed as both are supported in DeployOptions.
D. Specifying the test method is supported in DeployOptions, therefore specify only the test classes that are required to be executed.

Answer: AD

NEW QUESTION 30
There has been an increase in the number of defects .Universal Containers (UC) found the root cause to be decreased in quality if code. Which two options can
enforce code quality in UC's continuous integration process? Choose 2 answers

A. Introduce manual code review before deployment to the testing sandbox.
B. Introduce manual code review before deployment to the production org.
C. Increase the size of the testing team assigned to the project.
D. Introduce static code analysis before deployment to the testing sandbox.

Answer: AD

NEW QUESTION 33
When replacing an old legacy system with Salesforce, which two strategies should the plan consider to mitigate the risks associated with migrating data from the
legacy system to Salesforec? Choose 2 answers?

A. Identify the data relevant to the new system, including dependencies, and develop a plan/scripts for verification of data integrity.
B. Migrate users in phases based on their functions, requiring parallel use of legacy system and Salesforce for certain period of time.
C. Use a full sandbox environment for all the systems involved, a full deployment plan with test data generation scripts, and full testing including integrations.
D. Use a full sandbox environment and perform test runs of data migration scripts/processes with real data from the legacy system.

Answer: BD

NEW QUESTION 38
Universal Containers (UC) deploys major releases on a monthly schedule. In recent months, the team has noticed the deployment time has increased two-fold
from 2 hours to 4 hours .The team wants to get back to reasonable deployment times. Which three issues could be affecting their deployment times? Choose 3
ans

A. The number and complexity of Apex tests will have a large impact on the deployment time.
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B. Some components profiles, custom junction objects, and fields take longer to process than others.
C. The deployments are being scheduled during off peak hours, which is not the best time.
D. Users are working in the org during deployment locking can affect users and the deployment.
E. The team is highly constrained with pre-deployment and post-deployment changes.

Answer: ABD

NEW QUESTION 42
Universal Containers (UC) has two major releases every year and the team always run into longer deployment times. In which 2 ways can UC reduce deployment
time? Choose 2 answers?

A. Use recent deployment validations and the quick deploy feature.
B. Deploy components in groups to reduce deployment time.
C. Specify the test to run by using RunSpecifiedTests test level.
D. Validate the deployment before migrating components to production.

Answer: AC

NEW QUESTION 46
Which two environments are appropriate for creating a managed package? Choose 2 answers

A. Developer Pro Sandbox Org
B. Partner Developer Edition Org
C. Production Org with LMA
D. Developer Edition Org

Answer: BD

NEW QUESTION 48
Why does Salesforce prohibit Stress Testing against Production?

A. There is not enough CPU
B. It is a shared environment
C. It is blocked by data center infrastructure
D. It causes Internet congestion

Answer: B

NEW QUESTION 52
Universal Containers has multiple minor and major releases in a year .Minor releases have sample configuration changes, while major releases involve large
number of complex code components. What is the deployment tools should an architect recommend for both types of releases?

A. Change sets for minor releases and Force.com IDE for major releases.
B. Change sets for both minor releases and major releases.
C. Change sets for minor releases and metadata API for major releases.
D. Force.com IDE for minor releases and metadata API for major releases.

Answer: C

NEW QUESTION 53
Universal Containers (UC) development team is using an Agile tool to track the status of build items, but only in terms of stages. UC is not able to track any effort
estimates, log any hours worked, or keep track of remaining effort. For what reasons should UC consider using the agile tool for effort tracking?

A. Allows the organization to track the Developers work hours for salary compensation purposes.
B. Allows the management team to make critical timeline commitments based solely on developer estimates.
C. Allows the Developer to compare their effort, estimates and actuals to better adjust their future estimates.
D. Allows the management team to manage the performance of bad developers who are slacking off.

Answer: C

NEW QUESTION 55
Universal Containers (UC) has many different business units, all requesting new projects to be built into a single Salesforce Org. UC management is concerned
with a lack of appropriate project properties and roadmap for the Salesforce ecosystem. What should an Architect recommend?

A. Use design Standards for Governance.
B. Create a Center of Excellence with a charter document.
C. Create a Release Management Process.
D. Create project charters for each project.

Answer: B

NEW QUESTION 59
Universal containers is looking to install a new application to enable advanced quoting in its current Professional Edition org. The org is near capacity with object
and tab limits. Which two solutions should the Architect recommend? Choose 2 answers
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A. Install an Aloha certified App
B. Upgrade to an Enterprise Edition org
C. Create and install an unmanaged package
D. Buy more user licenses to increase org limits

Answer: BD

NEW QUESTION 62
Universal Containers (UC) is planning for a huge data migration from a home grown on-premise system to Salesforce as part of their Service Cloud
Implementation. UC has approximately 5 million customers,10 million contacts, and 30 million active cases. Which are the three key areas that should be tested as
part of Data Migration? Choose 3 answers

A. Case association with correct contact and Account.
B. Case assignment rules and escalation rules.
C. Case Ownership along with associated entitlement and milestones.
D. Data transformation against the source system.
E. Page Layout assignment to the profiles

Answer: ACD

NEW QUESTION 65
Universal Containers has a stable continuous integration process and all stakeholders are happy. However, user testing takes long time, as data has to be setup.
What should an Architect do to address this problem?

A. Include automated sample data during deployment.
B. Advise the project manager to assign more users to create test data.
C. Test data creation is outside the scope of continuous integration.
D. Train business users to create test data more efficiently.

Answer: A

NEW QUESTION 68
Universal Containers is starting a Center of Excellence (COE). Which two user groups should an Architect recommend to join the COE?

A. Call Center Agents
B. Program Team
C. Executive Sponsors.
D. Inside Sales Users.

Answer: BC

NEW QUESTION 69
Universal Containers' developers are working on a Visualforce page in a sandbox when an administrator adds a new field to Production. Which two approaches
could an architect suggest to an administrator that would assist the developers in their development process? Choose 2 answers

A. Use a Change Set to deploy the changes from Production to the sandbox, to ensure that changes made in production are reflected in the sandbox that the
developers are working on (Missed)
B. Use Salesforce-to-Salesforce to deploy the changes from Production to the sandbox, to ensure that changes made in production are reflected in the sandbox
that the developers are working on
C. Manually replicate the same changes in the developer sandbox to ensure that changes made in production are reflected in the sandbox that the developers are
working on
D. Refresh the developer sandbox to ensure that changes made in production are reflected in the sandbox that the developers are working on (Missed)

Answer: AD

NEW QUESTION 72
What is the process used to initiate a connection for change sets?

A. Modify the source org to allow an outbound connection to the target org
B. Modify the target org to accept an outbound connection from the source org
C. Modify the target org to accept an inbound connection from the source org
D. Modify the source org to allow an inbound connection to the target org

Answer: AC

NEW QUESTION 76
Universal Containers is in the final stages of building a new application to track custom containers. During a review of the application, a business subject Matter
Expert mentioned that it would be nice to be able to track additional container types beyond what was originally scoped during the plan and design phase. Which
two actions should be performed to mitigate the risk? Choose 2 answers.

A. Escalate and communicate to stakeholders the risk and mitigate it by allocating additional resources to support the new requirement based on stakeholders
input.
B. Have a discussion with the business subject Matter Expert and communicate that the Salesforce has limitations in supporting such a feature to mitigate the risk.
C. Escalate and communicate to stakeholders the risk and mitigate it by extending the timeline of the project to support the new requirement based on
stakeholders input.
D. Have a discussion with the business subject Matter Expert and communicate that anew developer environment will be needed to mitigate the risk.
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Answer: A

NEW QUESTION 79
A Salesforce contractor has built an application for Universal Containers (UC) .The contractor will need to deploy multiple times from the contractor's own
Salesforce to UC's Salesforce environments. Ultimately, UC has full control of the application's code, including its intellectual property

A. Eclipse IDE
B. Unmanaged Package
C. Change Sets.
D. Managed Package

Answer: B

NEW QUESTION 83
Universal Containers (UC) has a recruiting application using Metadata API version 35, and deployed it in production last year. The current Salesforce platform is
running on API version 36.A new field has been introduced on the object Apex page in API version 36. A UC developer has developed a new Apex page that
contains the new field and is trying to deploy the page using the previous deployment script that uses API version 35. What will happen during the deployment?

A. The deployment script will pass because the new field is backward compatible with the previous API version 35.
B. The deployment script will fail because the new field is not known for the previous API version 35.
C. The deployment script will pass because the new field is supported on the current platform version.
D. The deployment script will fail because the platform doesn't support the previous API version 35.

Answer: B

NEW QUESTION 84
Universal Containers is a global organization that maintains regional production instances of Salesforce. One region has created a new custom object to track
Shipping Containers. The CIO has requested that this new object be used globally by all Salesforce instances and further maintained and modified regionally by
local administrators. Which two deployment tools will support this request? Choose 2 answers

A. Tooling API
B. Force.com IDE
C. Change sets
D. Force.com Migration Tool

Answer: BD

NEW QUESTION 85
Universal Containers has recently acquired another business that uses Salesforce extensively. UC wants to merge their Salesforce Orgs to effectively sell and
service customer under one business. Traditionally, UC has followed an agile development methodology to deliver Salesforce functionality. With the merging
businesses, UC is convinced that adopting a Waterfall development methodology is the best approach. Which are two positive aspects of using a Waterfall
development methodology?

A. Changes late in the process are expected and can be handled by integrating them into the requirements specs.
B. Complex processes that will need to be built are thoroughly understood and documented before coding begins.
C. Milestones, timelines and estimates tend to be more accurate and predictable due to the upfront due diligence.
D. The costs of starting the project are low since much of the design work is pushed to later stages of the process.

Answer: BC

NEW QUESTION 86
......
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